Programm „ Schnitt „

Lbl XX

Menu("SCHNITT","GERADE-GERADE",AB,"GERADE-EBENE",AC,"QUIT",AD)

ClrHome

Lbl AB

Disp "GERADE-GERADE"

ClrHome

ClrHome

Disp "GERADE 1":Disp "(PARAMETER T)"

Disp "ORTSVEKTOR 1:"

Input "X:",A

Input "Y:",B

Input "Z:",C

ClrHome

Disp "RICHTUNGSVEKTOR:"

Input "X:",D

Input "Y:",E

Input "Z:",F

ClrHome

Disp "GERADE 2":Disp "(PARAMETER R)"

Disp "ORTSVEKTOR 2:"

Input "X:",G

Input "Y:",H

Input "Z:",I

ClrHome

Disp "RICHTUNGSVEKTOR:"

Input "X:",J

Input "Y:",K

Input "Z:",L:DK-EJ(O:DL-FJ(P:(G-A)K-(H-B)J(S:D(I-C)-F(G-A)(U:If O=0 or P=0 and JE=KD and LE=KF and DL=FJ:Then

Disp "GERADEN PARALLEL":Disp "ODER IDENTISCH":Pause :Stop:If O=0 or P=0 and not(JE=KD and LE=KF and DL=FJ)  :Disp "GERADEN WIND.":Pause :End:If O≠0 and P≠0:Then

S/O(T

-U/P(R

If (A+TD≠G+RJ) or (B+TE≠H+RK) or (C+TF≠I+RL):Then:ClrHome:Disp "GERADEN WINDS.":Pause :ClrHome:Else:Disp "PARAM.T:",T►Frac:Disp "PARAM.R:",R►Frac:Pause 

A+TD(X

B+TE(Y

C+TF(Z

ClrHome

Disp "SCHNITTPUNKT:"

Disp "X:",X►Frac

Disp "Y:",Y►Frac

Disp "Z:",Z►Frac

Pause 

Goto XX

Lbl AC

ClrHome

Disp "GERADE-EBENE"

ClrHome

Disp "SCHNITT GERADE":Disp "úEBENE"

Pause :ClrHome

Disp "EBENE IN FORM"

Disp "AX+BY+CZ=D"

Disp "A=":Input A

Disp "B=":Input B

Disp "C=":Input C

Disp "D=":Input D

ClrHome

Disp "STUETZVEKTOR DER"

Disp "GERADEN"

Input E

Input F

Input G

ClrHome

Disp "RICHTUNGSVEKTOR"

Input H

Input I

Input J

If (A*H+B*I+C*J)=0

Then

ClrHome

Disp "GERADE U.EBENE"

Disp "SIND PARALLEL"

End

((D-A*E-B*F-C*G)/(A*H+B*I+C*J))(T

(E+H*T)(K

(F+I*T)(L

(G+J*T)(M

ClrHome

Disp "SCHNITTPUNKT"

Disp K►Frac

Disp L►Frac

Disp M►Frac

Pause 

Goto XX

Lbl AD

Stop

